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1.1 O0oOooogo

0000000000000000 (scalar) D000 D0 (direction) 00 00 (magnitude) O
00000000000 (vector) 00000 0000000000 OOOOOO (vector)OOO
00000000! 0000000000000 0000000000000000000 00
2,4,2)0000000000000000000000000 00000 (21,22 &n), 2 €
R(RODD)0DDO0O0O0OO0O0O00OO2;,000 (conponent)J 0 0000000000000
x = (x1,%9,....,20,) 000000 (rowvector) 100 0000000000000 OO,000
00 (colum vector) 0000000000000 0O000O0OO0O0O0O0O0OOOOO (transpose)
0oO00Y...)0000

ua)
x
t(xl,@,....,xn) = .2 (1)

Tn

0000 x| = a2+22+..422 00000 x00000000000000000x00
000 (distance) 000 0000000000 O000000000000000000000
0000000000000e = (1,0,....,0), e, = (0,1,....,0), -+, e, = (0,0,....,1), 00, O
004(1,1,..,1) 00000000000 00000000000x =21 +22es+ ..+ Tne,
ooooooo

1.2 0000000
0000000 x= (21,22, ... 2,) Oy = (y1,92, ..., y,) 0 0 O (inner product) 00 0000

N
n Y2
x-y =3 v = (@ an e za) |- (2)
Yn
ogoooooooooboooboboooooono

x+y]? = (x+y) (x+y) (3)
= [xP+2x-y+y) (4)
00000 |x|+|y| > |x+y| OO
x[ly|D > x-y (5)
= [x|[y|cos® (6)

000000000 x,y0OODOOOOODOODODOO0OO0O0O0Xx,yOOOODODOO (0 =m/2)
gbboooobbooooobbo

Ly=2+iy0000 |2 =22 +y% 00 tand = y/x




1.3 UOgggogd

0000000000000 x= (x1,79,23) 0y = (y1,y2,93) 0000 (outer product), x X y
Oododoouooooooooooooon

x <y [P+ x-y = [x]’|y| (7)

HRERERE
xxy* = |x]’ly[*(1 — cos®0) (8)
= |x|*ly|*sin*@ (9)

gbboodgbuggbougbbboo uubbodbbuogbbugbbxxydgnonoo
goo

x xy|? = (27423 +23)(yi +v5 +¥3) — (@1y1 + 2292 + 23y3)° (10)

= (z1y2 — 2211)” + (21y3 — 2351)° + (223 — 2392)° (11)
dooooodooo0xxyddooooono

XXy = (Tays — T3y, T1Y3 — T3Y1, T1Y2 — T2Y1) (12)

= (22ys — x3y2)er + (x1ys — x3y1)es + (T1y2 — T2y1)es (13)

gboboggbboodgobboodbbbouooobboooobboooboboooonbo
gobooggoobooogooo

ao:
xxy = —yxx(00O0O0O0) (14)
x-(xXy) = y-(xxy)=0 (15)
14 O00OOOOOOO
0000 a, b, c00000
aa+bb +cc =0 (16)

000000 a,b,c00a=0,b=0,c=00000000000000000a,b,c0000
0 (linear independency) 00 0000000000000 000000000000O0O0O0OO
000000 a bO00O0D00000000000 000000000000 ¢c=aa+bb
000000 a bO0OOO0OO0OOOO

1.5 UDOOgggog
gbobodogoobbouooobbuogogy

Q11 - Qin
A=| (17)
Ap1  **° Upp
oggg
A= (aj),i=1~n,j=1~n (18)

gooooootogodn (au,alg,....,aln)DDDD (I‘OW),DDDDD t(an,alg,....,aln)DDD
O (column) 0000000000000 0000000000»00000000nxn00
O00000'A=(e;;) 000000000000 DOOOOOOOOODODOOOOIOOOOO

Od:



e BA=1000000 BOOO ADODOODOODOA'ODOOO

e AA=T000'A=A"'0000

0000000 (determinant)|A| D 000000000 (000003x30000000)

a b
= ad — be 19
. ‘ (19)
gggopoog
ti1 iz 13 a a a a a a
_ 1+1 22 (23 142 21 23 1+3 21 22
Qo1 G2 A23 = (1) an + (1) a +(=1) ays
a3z a3z a3z as3 @31 A32
a3 Qazz2 33

= (11022033 + (12023031 + Q13021032 — Q11023032 — Q12021033 — Q13022031 (20)



